Geometry (A) Name : Keu
Unit 4 Review Date : Y Period :

Solve the following proportions :
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4. The official width-to-length ratio of the United States flag isui ! lL.9. If a United States flag is 9.5 feet
long, how wide should it be?
width | X .4x 9.6
lengih ~ 1.4 a6 ? >
X5

The figg shovid
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5. A board that is 18 inches long is cut into two pieces in the ratio 1 : 5. Find the length of each piece.

Cix 5x X+5x=1F Lenging: 1(3) = 3w
18 — bx:1g 5(3) = \bm
X:=3 :

6. The measures of the angles of a triangle are in the extended ratio of 4:5: 6. Find the measures of the

angles in the triangle.

Ux+HAtlb X -\E0 Ang\cj: L{(\l):qyo
6x 16% = 150 5(12): 60°
X1 v(12)= 72°
4R bx
7. A rectangular region of land has a perimeter of 320 feet and the ratio of its length to width is 3 : 1.
Find the length and the width of the region of land. 3%
3 IxrIX 3% eAX-320 Lengthe 3(40) <120t
IX‘ P-320 k‘x SRS Widtn = ((40) = U0 £F
. X =40
3x

8. A map has a scale of 0.5 inch : 10 miles. If the actual distance between the two cities is 340 miles, how

far apart are they on the map? 0.6\ g
— . — 3 \ox={7e They are 1T m

lomi  3tom %=1} apart on tne
map

9. If two polygons are similar, then the corresponding angles must be (nn(}mfni’

10. If two polygons are similar, then the corresponding sides must be ?mpor\’\(ma\



E
11. Given that E = —EE , find BC to the nearest tenth. g ' b“"% 4.4
BA BC a*i " .
C D ¢ i
0 B A
BE_-"
M 4% B .l 5314 = 1 (39+X)
/ 1 39+X 4.9 =) 5814 = 42q +1I% T
c o) A ' BL=39+13.8
1521 = 11X B : 52,8
X=13.8
12. AABC ~AXYZ with ZA= /X and /B = /Y . If AB =7 inches, BC = 9 inches, and AC = 10
inches and XY = 9 inches, find XZ. ‘ \| Ji N [ R}
- XY X2 90w
¥/ \ q 1w =90
3 ] w=1a.9 2| X2=129m
10 X 1
13. The perimeter of APQR is 80, PQ =30 and ST =18. If APQR ¥ ASTU , what is the perimeter of
ASTU? N ArQe 30 . Eg s 30X = 1440
psty X %+ U8
30 18 ¢S? A
.80 (orresp: <
" V-8 " it perimetey The perimetty ot ASTU
' LS 4R units

. . . 2 .
14. A rectangle has length 15 centimeters. Another rectangle is drawn using a scale factor of 5 . What is

the length of the second triangle?
: : 15(3) - 0
15um
X
———— _‘_‘_‘_'_______.——"'-'_—_—_
eElis \-,_J The length of the
- 9
Second yecrangie 1§ 0om

15. A photo needs to be enlarged from an original with a length of 12 inches and a width of 10 inches to
a size where the new width is 50 inches. What is the new length? What is the scale factor?

A .
{24 scave faror  NEW - 50 5

i0 od 10
o\d n - new 5010

12 1o The \engrnof the
S new picure Shovd
WK = 600 be 0o
X200 with a scale fouoy
of 5y 0r f\i




16. A building casts a shadow 200 meters long. At the same time, a pole 4 meters high casts a shadow 20

meters long. What is the height of the building?

2& ; 200 The building 1s
20
X 4 4om full
20% = 800
200 20m X= 4o

17. Melody wants to find the height of the tallest building in the city. She stands 422 feet away from the
building. There is a tree 40 feet in front of her, which she knows is 22 feet tall. How tall is the building to

the nearest foot?

22 .10
il X 411
21 X
; Yo X = 4284
e
412 X232\
| The building 1§ 232.1 €+ |

ﬁna Haad ft

Determine whether the triangles are similar. If they are, give a reason why and write a similarity

statement.

1)

18. 19.
L
<BTeD op <(ZLA
by att.int.angics
A f [}
and q\mcav pavs 30 me CED=G0°
<BEC 2 <DEA bY w
GerigaN 2\,]9\” Swce <A¥<C and < BEA ¥ < CED,
S0 ABEGVADEA by ARV j ‘M’:EAV‘ ADEC by ARV I
20. ails verfual ang e
A
S
10 10 g A 5*\
2] w c 5 8,7
A ABC 0 1o P
aset 85/ % AokH 1 By eSO progecat
Vv ANKM 35 4 and the cuded ONGIES
% %_ 2 D ARBC VASRT by v : are congruent by VAT,
} 2 2 1
T AGKH v ANKM by CRC

$9%%




Draw the image of the given figure after a dilation with center (0, 0) and the given scale factor.

1
22. Scale factor : 5

23. Scale factor: 2

= =35
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B(-2,1) x 'z B (4, 1) 6 (15,1) x2 > ¢ (3,-2)
c(04) ¢'(0,-2) ¢ (-2,0) x2 ¢ (-4,0)
O(679) % (g, 25)
Determine whether the dilation from Figure A to Figure B is a reduction or an enlargement. Then find
its scale factor. od New
24, N 1 25, STTTTT
] 1] L sl T 11
| o (2) ] new
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26. The table below shows the coordinated of ARST and the coordinates of R’ in AR’S’T’ under a dilation
centered at the origin.

What are the coordinates of S’ and T'? Explain how you determined your answer.

<'(0,6) ana 7' (b,-9)
s . . - {
Sunce the scate factor & 3 (sec above for wonc), mutiply Sand T VY 3 toget $tand T,

Triangle Triangle
RST RI'SrT:
R | (2-3) | R | (-6,-9) |» Swit facror : (6,79 ]
E & G,3)
T 2,39 T ((0' -9 )
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27. AEAD is the dilation image of ACAB about the origin. What are the coordinates of D?

by
X \_2. E(0, 12)
-6 i 9 (0. 9)
ay = -\§0
X:-20 3 ‘D(-m,O)} < >
D B(—15,0) A(0, 0)
(-20,0) \
13
C
1a
q
D
Xz -20 A % 15 A
ANSWER KEY :

1)6.3 2)% 3) 1—2 4)5ft 5) 3in, 15in 6)48,60,72  7)40ft, 120ft  8) 17 inches

9) Congruent  10) Proportional 11)52.8 12)XZ2=129 13)48 14)10cm
15) 60 in, Scale factor5: 1 16) 40m 17) 232

18) AECB~AEAD, AA Similarity 19) AAEB~ACED, AA Similarity

20) ABAC~ASRT, SSS Similarity 21) AHKG~AMKN, SAS Similarity

22) New Coordinates : (-3, 0) (-1, 0.5) (0, -2) (-2.5, -2.5)
23} New Coordinates : (-4, 0) (2, 3) (3, -2) 24} Reduction, scale factor : -;—

25) Enlargement, scale factor : 2.5 26)S’ (0, 6), T’ (6, -9), Scale factoris3  27)(-20,0)



